&0 545 s ® K 15
j;rmzmm . R ___ mEHEE __
SR ks w0 W e w4 [P PERERTIEEETA RS

% e & & «g 7 #
B| b7 gty R o ! I
JEET £, — l®#m| - - - -
e A Kk
1 e — | BRAR (ST b b i b
2 EELS R 5 | 1.1 — |7 He BT e T HE v
AT AR K ek
1 BEEL N7 STRKREER (50 | L1 —  —# 8.0 8.0
i
2 LR o g
(1) FZEIRBUHIEP o B 1 H i - —Mi 200 — —
(2) LEgbistonig 50 | 1.0 —f 38T 8.0F 8.9
I Eapll 2 S 4 MBI P 0D £ D o DX — 1200 20 - -
ERCEASR D il 40 | L1|% 20F 29 7.9 7.5
SRET Eaet — | BRAR (T I LR I L T L
FHH kA 30 | 1.1 2. ELiE 2.8 1. 1M 1.1
AT Bt — | B -1 - A -
BT gt — | B s e
— AR Fo S i LIS PN 0 f D 3 U —# 15 12 — —
_ERCEASN 0> itk 40 | L1|% 23t 18+ 4.9 4.5
HH o R B IE PN oD o P L IR —bt 15p 24 | —
BRSO HiU 40 | L1|F 22 32 6.4 6.4
EEN LR — | B (TR YT L L Y T
AT LA R 50 | 1.0 —FF 8. 1| 4.5 4.5
9| A 2 S AT PN D 2 T e XS5 —fgt 1gpi 18— —
_ERLLASS oD i 40 | L.1[|F 24r:j 21+ 8.6 8.9
p=y E2i — | BB - - - -
P B2 R T B A PN D S T B X B - 4 - -

RFRLLA o> Hitkek 40 | 1.1 =13 LT 7.7
Poir /i e SE IR B M358 PR O fe PRt [ = 8o - -




&F0 545 i = X °H
;rﬁlzmﬁm . R _ BEBEE
SR ks w0 W e w4 [P PERERTIEEETA RS
2| PN LIS o ik 40% 1.1% fq: éq: 5.{243 5% i
PIHESF PR 5 B 35l PR D 22 )t R — —ifi 8.0 — —
LELIA 0 HE 40 | 1.1 —lr 10t 6.8 6.8
S} E=31 ot AR BT PN o R O - —pou | -
_EELLASN D itk 40 | 1.1 —IH 14 6.0 6.0
TG B PR SR B AR PN oD S R o e R S
LIS O Hi 40 | 1.1 —b 14 6. 0P 6.0
Z| {Lif P2 2 1 LM AR P 00 2 R At X - sy - -
LIS 0 i 40 | 1.1 —F 125 5. 0fF 5.0
TLIHT Eeeis — | B Fﬁthi’élinittﬁ -1 -
*S PN [EECIR A — | B ‘rﬁtti’émttf;ﬁtti‘%ﬁitt’&
A AR K
1 JREEHR A PN 0 2 A DO e s
2 RECEAh oot 50 | 1.0 —fF 37F 6.0F 6.0
Kiah [EREa AR — | AR (T LT LL Y L T L
A LR PR 50 | 1.0 —[F 8. 1F 4.5F 4.5
K [iiRcx a4 — | AR (T LT b M S T b
T L K 50 | 11|k 29 32 4.5 4.5
KFHET1TH ‘E%Eﬂﬁ%*ﬂﬁlﬁi%ﬁ@%ﬂ%%ﬁfﬁﬁi& @) | R fER fES R
ERLLASN O iR — | B - - - -
KFIT2~5TH |2 — | B -1 - A -
B [iEREaR A — | R [ T Bl b T L
A AR X
1 REIRE e o B2 T Ik —l 12 22 - —
2 LEELUS O R 50 | L1|F 17 31F 6.4 6.4
KIFE R T B A PN D S T B X B — Lo 13 - —
RFRLLA o> Hitkek 40 | L1|% 13 20 6.9 6.9
[ —£ i Ak I — | AR [T L AT b Y L Y L




1.
YN

&F0 545 g R R 3E
j;rﬁlzmﬁ% . R B (1551
SR ks w0 W e w4 [P PERERTIEEETA RS
% e & & «g 7 #
k| T LR ik
1 BEEREUIEL P o B A X - i 26 - -
2 LELISl o 50 | 1.1 —ldr 38t 7.3 7.3
f) e L K
1 RS Al T R e R A T X PN B0 | 'Rl @] EmE )
2 LRI Hik — | BEBR (v e M B b T b
AT LA DI
1 FRETRBUME o B A Hi X . T
2 LRELU o i 50 | 1.0 — 427 6. 0FF 6.0
| & HET E=3th — | B Fﬁthi’élinittﬁﬁbtiéﬁtt@
BAGE [EECIR A — | BEAR (TR YT B b T b
AT LA R 50 | 1.1 —FF 347 6.0 6.0
EENE b X 50 | 1.1 [T e HET P BT P T EL B
T LA X 5 | 1.1 —fF 20 6.0F 6.0
LEE [EREa AR — | AR (T LT LL Y L T L
T LA P 50 | 1.1 —[F 34 6.0 6.0
e FH HT Eee: — | B |7 Sk HET H HET e HE b EE
| dbAR Eeei — | B (7L HET HL e P e EL T
e ET Eetin — | B ﬁﬁttiﬁfﬁttﬁfﬁtt?ﬁfﬁbﬂj
At S HT Eeei — | B |7 Eh HET H HET B ME b AR
JE5emT £ — | BRAR (T LL T b M YT L T
| PE R R BT P 0D B I = A A
ERLLA o> it 40 | 1.1 —[f 7.4% 5.6 5.6
RBET Eaet — | BRAR (T I LR I L T L
SEEAT Ezin — | BRAR (R b Y b M b v
Z| /haEs [ERca A — | BEAR (7 L YT BT L T LY
AR KR 50 | 1.0 —|F 8. 1] 4.5 4.5
Fy Eseid — | B (i LR Y e e b




1.
YN

ST 545 g R R 1H
jlzmm . R B (1551
SR ks w0 W e w4 [P PERERTIEEETA RS
Z| B N —% %%ﬁ{%?ﬁttfgfﬁttf;?ﬁbtgﬂittfg ’
| P AT ﬁiﬁ%ﬁ#ﬂﬁif@ﬁ@%ﬁ%%ﬁﬁﬁiﬁ B0 | R @Em) EE &)
%
_ERELAS 0 M — | B - - - -
) et — | BEHR (7L HERT HLAE P e HL e
T HHET EEd — | BEMR (7L AT LTS - -
RH [iRca A% — | B ﬂith@l:ttﬁéﬁ%ti’éfﬁtt@
LA R 50 | 1.0 —F 32 8.0 8.0
IR HHET EELi — | BEM [T HEATHLTE - -
WEA gzt — | B |7 Lb HERT Hh MET b ME fh R
= ESE) — | BRAR (TP b M T L T
ZAHRHT N — | B Fﬁtt@ﬁtl:@l‘ﬁbl:@ﬂitmj
U &ETF b Ik — | BEAR (TT LRI b L T L
T LR Ik 50 | L.1|h 22 32 5.7 5.7
i o S 41 LIS P oD f P L XU - —li 8.5  — —
_EEELIS 0> itk 40 | 1.1 —I 12 5.2 5.2
T/NEERT gt — | R (TR L L S LY
T&HH AT L X I — | B ‘rﬁrti%l:n;tti/éﬁbtﬁﬁtti’é
LA X I 50 | L1|% 29f 334 6.0 6.0
T gAY Eeein — | B - - - —
THREET 1 ~3TH |28 — | BRHR (T Eb M B b M b Y
TAHT ESe — | B S
HERART B — | B = i s
HEAEHT e — | B - - - -
F$RAT Bt — | B -t - - -
HriR T Eeei — | B |hibEERTEEYE - —
T HT £t — | B - - -4 -
BT E=:4 — | B -1 - - -
1 RIERHET e — | B3R — — — —




&F0 545 i = X 5E
HEATR ;e _ MEEBE
SR ks w0 W e w4 [P PERERTIEEETA RS
% e & & «g 7 #
9 AZIRET EEti — | B# - - - -
FEEHT £ — | BEAR [T Rk ERT e - -
BES E=ei — | BEMR [HeYET e — -
] AT kA - | B# - - - -
AR EaeiA — | B&#R (i P T PR YR P T
TAH BT Eeein — | B (i b T P b v b
TAAHET B — | BB (T bt BT b BT b YT b
TFAPGHT Eaeir — | B&#R (i b T P B b YA b
T4 /AT eeics — | AR [T L HERT L IET b M L T
FTARIT1~3TH |28 — | B Fﬁthz’élinittiéﬁbtiéﬁtt@
FAHEHT Eaeir — | BER (b T BT L T P T
| HRHIAT ﬁiﬁﬂ%ﬁ*ﬁﬁiﬂﬁ@%ﬂﬂﬁ%ﬁaﬁﬂ fEm | R =B ER fER)
%
LERLIA o i — | B - - - -
7z| RFHET kA - | B# - - - -
mEA =2t — | B&#R (v b T PR e YR P T
BT gt — | B ﬁ?tti’é\ﬁtti’éﬁhti@ﬁbt@
NG Eeeiag — | B s e
= ST Esein — | B - - - -
T B ARHT Eeein — | B — - - -
ZJH] Eaair — | BB [ b T L b Y b T
%1t FEiE4 1 48%H0 40 | 1.1 —|# 8.3% 5.3% 5.3
LFRLLA o> it
1 REHRE M o 52 T DO - —ifi 6.8  — -
2 hFEiAh oo Hik 40 | 1.2 —IF 8.3+ 5.3% 5.3
Esvanl) B30 — | B (AL HERT HL e H e HL T
| fRIFEHET I — | B ke e — —
&| EpRaT B2 — | B# -1 - A -
HRER 1 ~3TH e — | Bl | HET e — —




ST 545 i = X 6
T XATF 4« B B (1551
e R ks @ A o w4 [P PEEERTIBEITOGES
Ll BE (ikcakAE: 500/0 1. 1%Fﬁtt¥gfﬁttf%‘ﬁtt£$tt‘?—‘§l ’
A L Xk
1 PSRN o 2 A Hh K —n el o211 | —
2 FELS o 50 | 11| 24[: 317 6. 4fF 6.4
72| hRE [izk R laEe: T — | BEAR (T LT BT L T LY
AT AR K ek
1 SRR o R A —Mt 1o 28 | —
2 RELEA o 50 | 1.1|% 27 3§ 6.7 6.7
HERET eeics — | AR [T L HERT L IET b M L T
{hiT ESEY — | B -1 - A -
s ET [EECIR A — | BEAR (TR YT B b T b
AT LA R 50 | 1.1 —FF 20/ 6.0 6.0
(| PR R AR = R B PN o J2 F DI - —iffi 8.0 - -
_ERLEASR D i 40 | 1.1 —F 1 5.6F 5.6
Lich{js pAmetS IR FE IR BLHIIR N D J= M X3 - —il 8.0 - -
ERELAS O SR 40 | 1.1 —[F 11 6.0 6.0
AR B2 S5 L o PN O B Y A X - e - -
LFRLAA O iR 40 | 1.1 —FF 7.0 4.0 4.0
VA A it SR BT PN 0D J L 35 N B
ERCLLSR oD Hirksg 40 | 1.1 = 1y 4.0 4.0
PR A ot SR BB P D 2 P M D - —Wi 7.2 - —
EFCLAS o> iR 40 | 1.1 —|f 8. 8% 4.1 4.1
FERT T PR A5 B b gl Y oD JE FH e Xk - —ifi 8.0 — -
EFREAS 0 g 40 | 1.1 —lr 19t 4.8 4.8
PN R AR BT PN o S 0 | —piso | -
_EEELIAN 0> itk 40 | L1 —t 12 5.2 5.2
gl VALS o S 41 L ML ) 00 f D L IR - —Wi 7.0 — —
REELIS O I 40 | 1.1 —| 8.8 4. 7P 4.7




&F0 545 i = X 7H
j;rﬁlzmﬁﬁ . R _ BEBEE
SR ks w0 W e w4 [P PERERTIEEETA RS
(7| PR 2 S 4 MBI P 0D £ D o DX ’ ] jlr‘f@ 6.?) : : ’

RERLIA o Hitke 40 | 1.1 —f 7.0 5.6 5.6

ERET Exs — | B s e
PARE S [k (A% — | BEHR [T LT YT b T b B

[iRcaglor | dEe
1 FREERBE N o B A Hh O - o2 - -
2 kLo 50 | 1.0 —b 31 6. 2P 6.9

PR [EEcaRIAESET

1 B — | BEHR [T L YT e Y b
2 kLA o 50 1. 1 [T b 28T b BT b e b T

TR AR X g
1 BRI A PN oD Rl 3 el 20 24 | —
2 LELU OISR 50 | L1 29F 41fF 6.6F 6.6

PEHERE [iREaR A%

1 BRI s — | AR (T LT LL Y L T L
2 kRSO 50 | 1.1 [f7ECHEAT HL T L T L A

T LA X
1 REEREMIR P 0D B A R — 2o 30— —
2 EERLA O 50 | 1.1 28fr 42 7.1 7.1
7 ESHT Eeei — | B |7 Eh HET H HET B ME b AR
iifasig £ — | BRAR (T LL T b M YT L T
(i £ R LIS D 12 P M DI Rt e
ERCEASS D 40 | 1.1 = 26 1t 11
PRI [k [Are: — | BRAR (T I LR I L T L
AT LR X 50 | 1.1 —IF 8. 1] 4.5 4.5
mEM2 - 3TE |25 — | BEAR (7 L YT BT L T LY
W Bl 1 - 27TH EaetH — | B&HR [T LT LY b YT L
Hf R AT b XIS — | AR (T LT b T L YT LT




&F0 545 i = X 8
AT A ¢ _____ BIEHEE
SR ks w0 W e w4 [P PERERTIEEETA RS
hal IR E AT LR ’ | ’ ’ ’ ’ ’
1 BEEREUIEL P o B A X — 14 220 | —
2 LERLIA o i 50 | L1 19 28 6.8 6.8
ENiy Eeis - | B& s e
TEERT g — | B -1 - A -
I [iskeR (s — | R (TR L b T LY
AT LA DI
1 REEREUMI P o B R X —Ft 15 15 | —
2 LRELU o i 50 | Lo 29 229 6. 7% 6.7
RETH1~3TH |28 — | B Fﬁthi’élinittﬁ -1 -
U\ HRRAE b X — | B ‘rﬁkl:i’émttf;rﬁttﬁﬁitt‘@
A AR K
1 JREEHR A PN 0 2 A DO e s
2 RECEAh oot 50 | 1.0 —IfF 38F 6. 1F 6.1
FR M [EREa AR — | AR (T LT LL Y L T L
T LA X b
1 BRI PN 00 B T HA K I e 3 I
2 _ERCEMA O 50 | 1.1 —# 424 6.6 6.6
HUHERS [iRcE %1
1 B 5 — | BoBR vl Lt T L e e L e
o LSO Hk 50 | 1.1 [f7 L YR H B e e b
A AR Xk
1 BB o B2 A X I —l 1T 32— —
2 LELEUA oo
(1) EiE 1 5y R UEREEEFTEHEL | 50 Lo 25 44 7.0 7.0
Eload: sk
(2) ERLSOHIR 50 | L1 25 44 7.0% 7.0
R [RcaR A% 50 | 1.1 [T bk b b b
T A X dk




&F0 545 i = X I
i CET A4 - BT BEMEE
e R ks @ A o w4 [P PEEERTIBEITOGES
ol s | ROERREN O B R P P e I
2 FRCLAS D 50 | 1.1 (% 22 41 7.6 7.6
R A Kk — | B&HR (v b T P L Y bR
TR b A X Ja 50 | 1.0 —[FF 8.1 4.5 4.5
WEM1~3TH Eeit — | B&#R (i P T PR YR P T
HRE AT Eeein — | B (i b T P b v b
A o HET B — | BB (T bt BT b BT b YT b
SR P S e B b o8 PR 0D JE Rt Xt — 1epi 19 | —
LERLS o i 40 | L1 20 26% 6.5 6.5
BT Eeeis — | B -1 - - -
5 B RAT Ee — | B [T L T e Y e
TEERT B — | R [ T Bl b T L
-~ —fa, —@ bk AR, K. KERE, AN 40 | L1 198 9.6 2.9 2.9
B, TEE B, FR
b8 EBpa), KR, KL, &)L R
NI, RAGR, AIUE, UER, _ERE
. E¥EF. PR, JIEHE. RBE, /LA
. FEAC KM, KPR, B, CEA, CF
FH., &fA., @A, aTH. BRE. M.
e, A, HEE, WE, Mg
1 BFEREHIRN O R A KR —#l 6. 8% 5.5 — —
2 EERLA O 40 | 1.1 (f 19 9.6l 1. 2 1.2
LEHR. LEFIL
1 FREEIREMG N o B A K —t 7. THE 7.1 — —
2 RERLS O 40 | 1.1 (f 19 9.6l 1.3 1.3
Wi, sMRE. B, 4R
1 BEEEREHIE P o A K0 i 7. 458 6.5  —| —
2 LELIS o i, 40 | 1.1|h 19f 9.6 2.2 2.9
b
1 SR P 0D B A X i 7. 30 5.8 —| —
2 LISk o M 40 | 1.1|d 19fh 9.6 2.3 2.3




1.

&F0 545 v R XK 105
jlzmm . R _ BEBEE
LSRN S R B e B
-~ FH T e AR, T D OB 300/0 L. 1% j Lgl"ﬁl:l:él"ﬁl:lzfgl ’

M, AT Rayafith

EFRLIS o M 40 | L1 [0 2.3 2. 2% 1. 2t 1.2
v A< [iREaR s — | B ﬁtt@ﬁttﬁﬂttﬁ[ﬁttﬁ

AT LA R 50 | 1.0 —F 8. 1F 4.8% 4.5

AHRET T I — | BEMR (7T Lk M L YET b M b

AT LT Dk 50 | 1.1 —| 6.0 60

A MET Eeei — | B&H (7L HET P e B e LT

AET Bt — | B o e e

x| BiA [iRCag % 4 — | B (T LT L M L YT L

T LR Ik 50 | 1.1 — 37 7R 71

=L N — | B - - - -

WY 5 Wy i — | B — - - -

FAIRET Eaet — | BRAR (T I LR I L T L

4 FET Eein - | B& s e

mk [iRc (AR — | BEAR (T LT b YT L T L v
AT AR K ek

1 REEREHIE N o A X —Mt 1T 23 | —

2 RELEA o 50 | 1.0 (% 2gf 324 4.5 4.5

FLFAT g — | B s e

A —RHET Eaair - | B# - - - -

oSl Eein — | B - — — —

R AR £ — | R [ T Bl b T L

RS e — | B (T LT P b M P

ERIAT B — | B -l - - -

BA T i 40 | 1.2 | b HET B YE e M L EE
T L X

1 BEIREHRR P 00 B T HE K I e T . S

2 _FEOEAA O 40 | 1.2 —I+ 264 9.94 9.9




S 5FE5 i =R * g
T XATF 4« B _ BEBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e & & «g 7 #
| FHISERT N — | B — - - -
=T £ — | BEAR — - - -
b HkE fr SR LIS PN oD f P L Bk —l 14 13 | —
LIS o i 40 | L1|f 23[: 20 6.9 6.9
SR [ickcR A%
1 B — | BEHR [T R e e e b 2
2 BRFRLISh o i 50 | 1.2 |7 b HET bb BT b e b 1B
AT AR X g
1 IR P o B K3 el 14 23 | —
2 LSO K 50 | L1 20 25 6.5 6.5
T Eee:T — | B [ibbuEEE | —
4 FHY [iEREaR A — | R [ T Bl b T L
AT A% s 50 | 1.1 —[F 20 6.0 6.0
wp| EET =ty — | BEHR (TR HERT BT b e T
& M7 E=2: — | B# - - - -
K IIET £ — | B - - - -
| HEHERT Eee: — | B |7 Sk HET H HET e HE b EE




